(] 6m/s
- 7k800 -

m®/s

4,700

7k0 8k0

(km) -




T

L] e L1 am ]

= 40000
60-
60
30000
40
“ 20000]
- 20 10000 B
0 0 o
|
|
|

B,C

-
-
[ J
L4 L L L L
2006 co co co co
DR L 1
,,,,,,,,,,, RAEIMD R E FTHE !
™ 1
g SIS R - FR I m
L. RESOEARD Py s 1
a P I~ 7t ~
PRl sy | HEmEevsd S - T REDEM | o
FE0T R & B IIROH ROBLERT |
o RBTOEOYF FHO
EEt BEOREMERS !
1
T B, RADHE. |
Y SIE e \ I o
1
BEAOEL - 20% -
B, BB 1 b ! \
DELERT M 1 R . M — |
1
P I | I e e e et
k] HE 1A 28 38 48 108 118 128
(A (AME]
=21
|




10

13
17

3/600

5/000

|
- 1,000m3/s
-
No wirsy |\ (/) 10 13
1|H 9.9 13| 3620 |[8|H1s 5 28] 1430 3K400
2[n10 .10 15| 1420 [[o[n 15 8 .6 | 2570
3lH11. 7 25| 2420 |[zolr 16. 8 27| 4070 1
4ln11. 7 31| 1630 |11|n 16 10 18| 2900 I‘ 11 2 S ——
s[Hit 9 17| w0 |[2fn17 9 3| 4s30 | T L mows e
6[H11. 9 20| 1530 [13[H 18 8 18| 1,800 =
7|14 .8 28] 1270 |-
10 10 13
- 17 9
-
17 9 4,630m/s 2m/s 1000m3/s 0.9m/s




